‘Y59 O/, HEHAN EE X}

Ap973) AgHTels] Al s
(RAEX 1 3)

- 2022 IAQE -
A-AlE 243 ] 2 5D
A



- 2022 SHAT Lt

Eu
—/

=K1y

A AlE 24 5 lﬂlﬂlxl%

d #k 3 A

O AYEY

(2913 4)

T - 523 | AT | Arad
& @ B=5-&
3 A 442,864,525 435,959,806 435,938,997 20,809
B2 A A 31h 40,525,283 35,658,727 35,658,727 0
T = g 82,802,566 82,183,263 82,183,263 0
o] ZA15A]3} 198,661,157 200,581,775 200,574,418 7,357
o A 7<=} 113,250,740 108,845,778 108,832,826 12,952
ol-z A ad 3t 5,935,238 6,527,118 6,526,618 500
SR 3 1,689,541 2,163,145 2,163,145 0
] AlE2At
(eH9): 3 9]
w o | UL A B9 o) 9 nxzvdd | ga
& @ @ |@-a0ee
& A 545,568,564 511,782,345 4,353,303 21,454,281 7,978,635
B2 =] 2 3} 47,077,388 40,377,015 31,400 4,963,625 1,705,348
A g\ 2} 93,392,443 91,214,153 0 1,898,273 280,017
o] =ZA1 82| 3} 235,371,088 226,889,228 | 1,911,281 5,257,936 1,312,643
o) A 7<= 142,501,555 128,798,256 | 2,300,703 8,409,741 2,992,855
ol-& A A 3} 12,104,717 10,358,455 109,919 829,684 806,659
5 A] L 3 15,121,373 14,145,238 0 95,022 881,113

,1,

)



L AlEaat g3 3

(9:14)
o QA E
A A HzZ| g A AdEE s
s T i ZISPALS ZF=zlol | x| = ;‘(_]_.o
Aaad | dgy | JYG | TERE e
3 A 7,978,635| 5,320,255 0 10,000 834 2,647,546
B A3 | 1,705348 | 1,087,487 0 0 0| 617,861
A e r A5} 280,017 247,698 0 0 0| 32319
olZAEX|} | 1,312,643 918,018 0 0 0| 394,625
o] 71 E3 2,992,855 | 2,501,361 10,000 481,494
oFxA A7} 806,659 559,180 0 0 834 | 246,645
o5 A 7 881,113 6,511 0 0 0| 874,602
] d4te] A& ]
(9:14)
HAE&aY AL
A AHE | BAFE G4 o A & A A
29 | 29 | A
T CEAR
doroy | 175,267 212 0
32y 224
WGEER PRETS 3,646 0 212 AR ]
(304-04) Zle A},
B DA 7N BB R
X 3l o 0
O S s L Wi 20221109 P10 = 4Hg3k 7)ol
AN AHED oagugs ol 730 S AT AR
(304-02) ’ REEO] WA, FTkaclle]
'g“ﬁoi%;}iﬁi 176,366 369 0 %_8_8}0:] 04]’&@%3}511} ?:}
QIR
soon 6,046 0 369




A&=H & o
= Z A
A AR | BAR AN T g | o | R EAS
AFE-22) 1) _11-2348s ARARD AEAGFe
=AEATA }(561—01) 1,543,802 150,000 etz 2 v 249 2} g
A2 $9L 93 71E A
A _11-93| T L AT A= wRlS
o] 2.Al| AEBAIRE ]A( 10501 | 381,000 01 150,000 2022-11-23| o et As
B =) 3} By 7Aed glrdsy FAL 218
=845 gy L7983 0000 0 i AS RS B 0
et P3| Q18R 27 ATl
Amage| 12 330,678 0| 30,000 2022-11-23 eing Aam= Ag
(401-01) o o
BT oPdEe] el
. 7P 2 ABjRe] Sl 915
MR o0l 25,000 AAER AEF QR SAE S
(301-12) ’ FIA 0|1 FHIRIsH o=
SEEREPSEALe 3l FHPYwSZ 2 T
ojx | Bl ojlj“f 2022-09-26 21450 WEEAE Skt
= E‘IX}E; 1 LAl S3Al2E 2 )
= A EB i=ke Eﬁ]]—j = 9 /\]i\.E{]:l
Moy | 102500 0] 25,000 IS 9f3lo] ST
(405- Y= ANNEFHEN 2
A 88} TA
L) dAwe] Aed3d
(S9:d )
= = = = H] H]
7(] = =0 o) o Z] = | Ae24 7(] = Oﬂ—
A A AR A= ol dd Ao 94 | At A Z A5
thaheels] #18] 5l 374
FIARGo R ALgSlal
Aea | S ADBR = 470] Bl
o e | 180,139 180,139 0| 020205, ol Bisie] ki Hats
A | Tew S A8l s duln)
R A%
LQIEANY  elzs)7}
= A7)5ge) weh 2219
PR seimna | 4500 0| 0]20212% | 22128 | iy sz merg
22| A2 A ol A9 Ba
oy oTeoH =149 %P71§§]T
° - 2220126 0020127 | ool 28 715,
Saa | gepqa | 224000 224,000 o o0 iR L
= Lo Au)2s o]golE ?7@
we} okdE ReEE
ore AR 00| 27,000 0 0202012602017 |53 Ao ojat xut
Zga3dat A A= AdEe
F=H9 Sile] meE
o | ase o e
iy RS 0 0 |2022-01-26 | 2022-01-28 | w2} ¥ 419
as | gy | 7000 47,000 i) BaR) HeRIe
)




) oldAIdH] &

3}

[e]
o TPA]o]¥d (491 9)
=] A ju=] Ao Z]%%?_l =0l | Qol| 2] 3) x}-o () o
B I S B o o A B HAoldN Z szl o] Y A} &
3 A 3,533,445 1,969,360 436,990 1,534,733 29,352
A AEZ] ]
By l]:; SIEN AL AR} AR
22 5} (ﬂﬂ-ﬂxﬂéﬁ - 85,095 44343 44,343 31,400 9,352 —fl—xﬂ —3?;_]9] A ZIs)o) wE
= 1_1_~1_. ~ X:L X o]
B HAR) b

ojzal| olEatEolE AeA] BEAR Aol me
[ AN 60,000 0 0 60,000 0| AR HZFo] 2022 12¢
SR () T vk oA AR 21 B
ojzal| olEatEolE AeA] BEAR Aol me
[ AN 25,000 0 0 25,000 0| AR HZFo] 2022 @ 12¢
SR (gaizEn) T vk oA AR 21 B
ojza| ZPrEAEY AR 1290 AR} R
N 4 4 24 18,000 0 0 18,000 09 AKRAEAIZE Brsko
SATH g o3t

ojza| ZPrEAEY AR 1220 AP} R
a 4 4 24 30,000 0 0 30,000 0[] ARAAAZE Brlsko
SATH @A) o3t

ojza| ZPrEAEY AR 1220 AP} R
[ 4 4 24 2,000 0 0 2,000 0[] AKRAAAIZE Brsko
S (gapan) A o3}




Z io_'l(‘)_l . _
BA | AW | A4 63}%4%11 A Eq | HAeldN F Yzl o] A AF f
ozal| FEARY A2 12200 ARV )
3229 | 180,000 0 0| 180,000 0| ARJAAZL Erlsle]
=A gam) ol
Qzal| ZFIEARD A2 12200 ARIV )
- 24929 | 420,000 0 0| 420,000 0[U AN Brlsle
5 g gss) SEG
Rl tiAklS: 3AR]
2,293,350(1,620,017| 87,647| 673,333 0| E7V5E18% 2&
0221192 A&A] Sy
s e Qeloizlo] Bk A3
420,000/ 305,000/ 305,000  95,000] 20,000/ cHEE & Der R LI
13l ol el ne
o Abiold
(Z9::14)
A% o T 1 = .
A 9 ARl S ] =B | Aro]glel 2] 3 2} o] & A} §
A G [RREIGETgAEd el g o 9 A &
ot A 4,747,3404,041,3891,240,308 2,818,570 15,128
7d= g AVEEAL ARV SRR
Az AT ydos Rt Asry EREY
T |LA04[1488,826) 883527| 598,931 14,585 F Pl nie VR I 5o
SER - S Falo] Bhssie] at of
_%1
! ISR A R AN B
e FrRige R AdAREE P Ak}
A7
(/\]“tl]ﬂ]) 634,000| 610,032| 56,539 577,351 110|y3 1291 Aok wo} i
= allo] 273l ol
o:]/K-] FAolg)o]z BrepRRES; ARFIARA S0l
Z‘: BE ‘giL E 2293350/1,620,017| 87,647| 1,532,370 0(we} A 2 Ak A
i ) o2 Pt U] o Bt
- AA=AAYA LA E R Y
°orE | ElEUI7RATE (20221231) oI Sefep 1A
sl %) 9 322,947| 322,514| 212,595 109,918 433| it o1 2 ) o
IPIAS W et




E 3 3] A
() Al a4t
(9] d )
< | TFAAY | P (BYdEAEY| vedd
B |3 = /1\_]_. o) BT T
%1 L L “’]’ = dﬂ @‘q @ @ @ @=@_@_@
st Al 870,672 1,263,017 921,009 117,159 224 849
o = A&l 0 390,057 48,049 117,159 224 849
B s B F 820,510 822,800 822,800 0 0
—L ~O 1=
7] = %%‘_;ﬁo 50,162 50,160 50,160 0 0
) A&=Z22
(9] - )
Y o) AHE < A = Y o] € o | RXFhI | X3P
= @D (&) (&) &) E=D-D-E-ED
3 A 870,672 814,638 0 56,032 2
JdERTI|F 870,672 814,638 0 56,032 2
) AsZ24r J&azkd |3t
(91
o QA
T o= (AR |y g » ABE
- o 1 3] [e) = ]_o vl
R AbkoN 71N gg‘}%‘ A ZZY | ou]H]
T A 2 0 0 0 2 0
JdERIIZ 2 0 0 0 2 0




7l 5 4 &
O FA43 |t
= GOEE
T 7 FIEET Y | A F F A H] 11
s} Al 6,664,686
P e B B B -
o} 2 A 2 183138 | A & » & 3}
S F | _
2 5 A . 2345439 | A & B A 7}
= 9 B A5 7 F 812,759 | o 24l B- =] 3}
¥ A B 5 7 = 1,028,068 | o A 7} & 3}
o} = 7] = 647,034 | obF A A4d 3
O 2 A &d 3
© GrEE
TE | ausw s S g A=
<n A 98 | AEAND | Gope
ZA¢ ZA] e A& -
st A 6,376,361 288,325 439441 | 151,116 6,664,686
A = 5
A" A Z | 1,765,611 65,775 126,461 60,686 1,831,386
ok A A A
A A =
= 9 | 2,298 146 47 293 57,998 10,705 2,345,439
2 g A A
w9l B x| 7] = 755,037 57,722 117,503 59,781 812,759
kA H =7 F | 1,023,660 4,408 24 352 19,944 1,028,068
o = 7] = 533,907 113,127 113,127 0 647,034

,7,




